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QUESTION ONE, (12 marks) Start a new page.

(2) Evaluate:

2010 Half-Yearly Examination : 73
O 55—z

(if) 0-173 +0-21
(iii) 234 +3

FORM II 09 Lot
MATHEMATICS BT

Thursday 6th May 2010 D) é
) (i) 0-7

(¢) Reduce each fraction to its lowest terms:

~ 90

: () 50
General Instructions Collection
e Writing time — 1 hours 30 minutes - Write your name, class and master (1) 12
e Write using black or blue pen. . clearly on each page of your answers. 15

e Staple your answers in a single bundle. ’
e Calculators are not ta be used. P ¥ g ' (d) Simplify:
e All necessary working should be shown * Write your name and master on this L
in every question. . question paper and submit it with (i) dy—2y

e Start each question on a new page. your answers. . (ii) —6m x (=7)
Structure of the paper (e)

o Total marks — 108
e All nine. questions may be attempted.

e All nine questions are of equal value.

2A: KWM 9B: SIE 2C: JMR : X ! Z
2D: LYL 9E: TCW 9F: BR - . ] N
2G: RCF 9H: SO 2L MW Find the value of z giving a cleap geometric reason.
Checklist
e Writing paper required. Examiner
e Candidature — 188 boys BR

Exam continues next page ...




SGS Half-Yearly 2010

QUESTION TWQ (12 marks) Start a new page.

{(a) Selve m +10 = 7.
(b) Evaluate 3a® when o = 2.

(¢) Factorise 7a + 21.

................. Form II Mathematics

(d) T three angles in 4 quadrilateral are 50°, 160° and 30°, what is the size of the fourth

angle?
(e) Evaluate:
L2 3
M 3+7

(i) 19— (7—11)
(iif) 0-9—0-35

(f) Simplify:
(i) 16+3xp

(iiy 4xzx3xyxax

\ 17pg?
(i) 2L
Pq

(g) Find 30% of 120.

(h) What percentage is 20 of 507

Exam continues overleaf . ..
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QUESTION THREE (12 marks) Start a new page.

(a) Write ? as a mixed fraction.

384
(b) Write 300 2 @ percentage.

(c) T double & number = and then add 4. The result is 16.

(i) Write an equation for this calculation.

(ii) Solve the equation to find =.
(d) Simplify:

(B 7Tz+3—4z+9

(i) 8a® —3b+ 76— 5a

(e) Solve w3 7.
5
) ®
L
x° M
0 40
N
Find the value of z, giving reasons.
(i)
D
160 y°
A ¢ B

Find the value of y, giving reasons.

.................

Exam continues next page ...
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QUESTION FOUR (12 marks) Start a new page.

{a) Factorise 3z — 108zy.

(b) Simplify:

N\ 3T =
05 +5
. 2T 3z

AT

(¢) Evaluate:
M 23 -13
(i) 38 x 12
(d) Evaluate:
() (02)°
(i) 847—2x5

(e)

80°

Gix®

H

Find the value of z, giving clear reasons for each step:

Exam continues overleaf ...
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QUESTION FIVE (12 marks) Start a new page.

(a) After a 20% reduction in price a mountain bike cost $288. How much did the bike
cost before the reduction?

(b) Solve g; > 8.

(¢} Evaluate 0-6 -+ 0-002:

(d) When a number is decreased by three and the result doubled, the answer is equal to
five more than three times the original mmber.

{i} Let the number be n and write an equation showing the given information.

(ii} Solve the equation to find the value of n.

{e) At the start of Form I, Juan was 160cm tall. At the end of Form IT, he was 172cm
tall. What was his percentage increase in height?

(f)

F

Find the value of =, giving clear reasons for each step.

Exam continues next page ...
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QUESTION SIX (12 marks) Start a new page. v QUESTION SEVEN (12 marks) Start a new page.

6 (a) Find the simple interest on $6000 at 15%p.a. for 18 months.
(a) Express 7 as a recurring decimal.

(b) Evaluate 105 + (((16 + 8) + 12) +5).
(b) Solve the equations: ’

() 13a — 27 = 250 — 33
(i) 7z —3(z —2) = 62

(c) (i) Solve the inequation: 2(2z — 5) > 6z + 3.

(i) Graph the solution on a number line.

l—z
= —5.
9

.z
(¢) A tennis player has won 32 out of 48 matches. His sponsor says that he must win (d) Solve the equation 37
60% of his total number of matches to qualify for a bonus. If there are 17 matches
.remaining on the four, what is the minimum number of games he must win to collect (e)
his bonus?

(@ ‘ | 4

lcm

lem

lem ' lem

This is a rectangle which has been divided into 4 sections. What percentage is the B ¢

shaded area of the total rectangle? Copy the diagram of AABC, shown above, and then complete the proof below.

AIM: To prove that the angle sum of a triangle is 180°.
CONSTRUCTION:

PROOF:

Exam continues overleaf ... Exam continues next page ...
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QUESTION EIGHT (12 marks) Start a new page.

(2) I bought real estate valued at $500000. In the first year my investment increased
by 12%, but in the second year the value dropped by 7%, What is the value of the
property at the end of the second year? :

b) Find the value of z when = = 22 and y =11 if
4 2

1 1 3

20 z vy
{c) A triangle is to be drawn with one angle 16° less than another and the third angle is

20° less than the sum of the other two. Find the angles of the triangle, clearly showing
your working.

(@)

52°
4 B C

Find the value of z, giving clear reasons for each step.

QUESTION NINE (12 marks) Start a new page.

(a) If 1 = 5, find the value of !
y+3 y+5

. (b) I z is 250% of y, then what percentage is 2y of =7
(c) I have two twelve hour watches each with a minuté hand and an hour hand. One
gains a minute per day and the other loses 1% minutes per day. If I set them both to

the corréct time, how long before they next together tell the correct time?

(d) A four digit number is a perfect square and it is of the form aabb where a and b are
digits. Find the number, clearly showing your working.

END OF EXAMINATION
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